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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]

I 1
3500  —>¢ EcFzExp ! $50834265083
+ Ecdef I l.‘."ffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff
3000 4 —¢— EcParam
T WATEI_BC s s s s o R R A A A KA A AR A A D ’f‘ L
2500 PR
1
2000 :
1
1500 :
1
1000 :
Warning: col [ EcFgro’, 'EcPltng'] is missing 1

500

25

50

75 100 125 150 175



3500

3000

2500

2000

1500

1000

500

Plot [ ECopt’]

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing
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Plot [["I", "lopt’], ['T, "Topt’], ['RH’, "RHopt'], [ ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-1_0

minFVI
minFVO

Warning: col ['minFVlraw , 'minFVOraw’ ] is missing

S~
o
1

o ETcAlraw
—  ETcA1
—&— ETcA

: col ['ETcA2raw’, '"ETcA2'] is missing
{ ]

0.0 0.2 0.4 0.6 0.8 1.
10 1 1 1 1

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

8000 —@— ECopt
—0— ECI

7000 - —@— ECO

6000

5000

4000

3000

2000 - ”-0 1 L }

A Warning: co E IS missing
1000 ¢ 1

—@— PHopt
7.47 —e— PHI
—8— PHO

~
o
I

Narning: col ['PHC'] is missing

31.5 1 —@— WCperM

31.0

30. 5

30. 0

29.5

29.0
Warning: col ['WCperMraw', 'WCperMavg'] is missing

28.5 -

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

—o—
—0— maxM
——

98 minM

30 7000000000 000000000000000000000000000000000000000000000000000000000000000000000000000000
1
|
|
1
I
1
1
1
. 1
26 |
24 A

22 -

20 A

adjFVOR

-0. 02 ~

0. 04 1 Warning: col [ adjFVIRraw , "adjFVIR', "adjFVORraw ] is missing

60. 0
—@— beg wc

97.5 -

95.0

52.5

50. 0

47.5 -

45.0

42.5 -

@ postFgEtraw
—0— postFgEtavg
—@— postFgEt

400 -

300 -

200 -

100




o

L L EF_“ F@

| | Nl _- o

&\ @@

Cunl B
AT I

n w@
1| 4 ?

ﬁw

- 100

[=] (=] (=] (=]
© © < N
1 1 1 1

FgDai ly

/&\

O\
Z
'7-77 7 %, 3 @%v
0

240_
28. 0 ———
30 () _—

[ |

© o o o o o © 0o 0o oo oo o o
S < © a © o © O F © o © O« o
- — O F T OO O © ~



000000 D R/\\
; s
1000 A2} T’.‘\/\[/\/ \ f/ \yﬁ
ol ! \/\
MM N
) MT/\/ V v E
{3 ;
I /A\ 7N }\
ii/’A\A‘r\h f/\ AR CARY \/VZ
18 /s/ | | \/\/‘\/ \L /\V/ V\\/ \/ VY ;
N A
ot “ a
N PErAN N MIN TV
A VAR WA LVATRYER! V/\/\/ el
IREERVERY R L\ g
| | ‘
i S MA T b
AN AT VTR TR A
o VRS 1 i
\\ : W g
8o_+ RH ]\ /.\ 1 f)\ A
m Vo LA AL
. M\ xﬁ/\"l Y
/ N
. A
\.A
‘ZZZ ﬁh\ v A
: AN I/‘“’AW/\V [
V




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

ETcI ETcIdef ETcP ETcPT ETC|IS

ESo

EToI

ETbal

pR

pVPD

PPFD

— -

RH

1.0

0.8

0.6

0.4

-0.2

-0.0



ETcl

ETol

VN

° ) ° ° )
2500 - . . : . :
L1 ° o (L) o0 ®
° ° ° ®
2000 - i 8‘: 1 °° o i ‘.:. 1 & ° ...3
° 0 o °
' e o ® ° ® o @
o o o ® o o Se
1500 1 y ° %8 y o 00%%, o ] i T op® e T % %e®
o« o8 o ® ©° g % N e® %
1000 - | [ 1) o) | { ] ° o0 () | () ..: | .‘0‘,. | o ® () P
° 2 c
o® o E- hC % © o%g0° .:3.'. ® o (E.o’b‘o, o eo ® oo o
500 - 1] ®e o %o _ o 0% o _ % e ® o] 86 _ °% o S
L) ° % ° o o e o °o® © [ o o o 3
D) ® @ e © ®
01 {® ¢ °*°& % 0% (Y % o eeUme o {oe®qee® o *° ° | & {° %° e 2% @
T T T T T T T T T T T T T T T T
1800 - 1 1 1 1 1
° ° ° ° ®
® ° ° ® >
1600 { o o - 1 ® . 1®e @ 1% - ] & .
LTS o PY .: ® % ° @@ ® ® ..0. ® o0 ® ® .. .0’.} ..
)
0] B e s o o g u  ohe {2° 0 9288 o oSl
% o “: '3 o e o8 %"» & o S0 °. % : «6‘“‘.{"‘ @
12004 g°% - o0 o° 1 e %, - e*%,
° ® ° °
1000 4 ¢ o %o - . o ¢ 1o %o - w &°
® o ¢ o $ ° . ® e ° o® of
800-{ ©® - ® e 1o © - o®
° ° °
600 - e e O _ [} ® o0 1 @ Y (1] ] o T
o ) o °®
400 1 ® 3 T .. N i\. T Y P (]
26 ° T ° 7 ° T °
24 - ® o 1 . o ® e
) (] ® ® 9 o® ©
® . °° ° o« &% o ° e %
24 @ ® % L 10 © o 4{ @ _ ob.’ L
c® o 9 ® Q) e o C°® o o ° L 0o o
Teo0s, 2S° ° %% % 0% o S% o & %eo Oo o or o2’
201 8¢ o° [ 7 “ oo 1 %e o © °o T o % e
= e e o o o [ o | oo ° . ° ° o,
181° 90 o° %0 1 ° ° % 1° S0 S . iy Qe
® 0 ® ¢ ° o [ ° (3
161 8 ° ° i > loge e 1 o e %.°
() o © ° °o® () ° PY (] PS PY
4] o ¢ i ¢ o | o ¢ 1l o ¢
% ® e ) oo ®
12 T T T T T T T T T T T T T
904 S e 1l o%e ]l o ® o
§ o.‘ ° O
01 e 1°° ¢ 1 * 2ot
o "ee%C e o, ° e o o ° © %, ‘g ®
e, @ 9 : soa ® %° .’. % O("‘..
704 o oGt o ° 1 e 0050 ° - o © 00155
= e ° o ) ® o
& 00 ¢ e%e0 , % o0 o° %o,
604, ®@0,0 { o o® @ - ® oe0.
e W e ® e o0,
.O () .O [ [ ] o ®
07 ge 100 I e ° o
D o °
T T T T T T T T T T T T T T T T
° ° ° °
e % * o %
_ . ® _ .
2000 . &° ° 9. S o :.
% o o° «® W ° o
1500 - o ® ° 1 o o. ©® : 1 o )
“s® o ° %o ¢ ¢%% e
o® o o O oo Ve o ©
%9 o % oo
1000 - 8 o - R % - y N S e
P o ([ ] PY ) . ( (] PY
o .., « [ ] ..0)8
1 &° ° . . o0 )
) °
) ° o _°® o0 o
|9 oot whw o | NP 1
& o O o %
- J o 4 O] - [ 4
400 oo ®0 0 : . 5.2. : o9 ...,‘o
c e €@ 0,°%° ¢ o a%® o 0@, &% o,
@® o ¥ o o @ Ve’ 00 o ©0°°C 90,0
.. * ® 0% e o) ve ® [ ® o Y® LYY
300 1 - ee, ° 7 e° ® . 7 X R 7
® .‘ [} @ © o o ‘. ® g e ° o o .. ® '...
° ° ° °
- ° ® ° °
° ° ° °
8 ® ° °
200{% o $ . S o° e . ° o o ¢ 1% e o ° .
° ° °
o0 oo o0 o o
° ) ° ° °
100 : . : . :
° ° ° ° °
° ° ° ° °
T T T T T T T T T T T T T T T
0 1000 2000 500 1000 1500 15 20 25 40 60 80 0 1000 2000 100 200 300 400

ETcl ETol T RH VN I



3000 A

2500 -

2000

1500 ~

1000 ~

500

T
50

T
100

T
150

baiA

baiB

1.0

1. 3475

0.0138

0.8 -

0.6

0.4+

0.2+

0.0

0.0

0.2

0.4

0.6

0.8

1.

bs

o

0

2000

1500 -

1000 -

500 ~

Fit vs obs:

a=1.

1, b=-191.08, r=0.93 _°

0

1.0

T
500

T
1000
Fit

T
1500

T
2000

0.8 -

0.6 1

0.4~

0.2~

0.0

0.0

0.2

0.4

0.6

0.8

1.

0



hour

:35 -

145

125
110
:50
:30
110
:50
:30
115
110

100

80

- 60

- 40

WA R WA
Fed a8 @& S
] VX X

T

§_

7
L e
N
4
2

%

N
“%

2

o
-



P3-1

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

07:45 273 150.0 2.583 (Z=| {Ri%e07:45 Bz (KREAERSE)
08:30 273 150.0 2.583 (Z=| {Ri%@08:30 Bz (FAERHSE)
09:35 273 150.0 2.583 |Z=| {Ri%e09:35 B (KREEZBE)
10:25 273 150.0 2.583 FA| 1B2i%@10:25 B3h (RA{EREEE)
11:10 273 150.0 2.583 BA| FaHAe11:10 Bz CGRAMEESE)
11:50 273 150.0 2.583 FA| FnHfe11:50 B3 (KAHEREE)
12:30 273 150. 0 2.583 |[/AI| FhHF@12:30 HEh (KAEESE)
13:10 273 150. 0 2.583 [/\A| FhHF@13:10 HEh (KRAEESE)
13:50 273 150.0 2.583 |/i| FmHA@13:50 Bz (REAEESE)
14:30 273 150.0 2.583 [/\ii| Fi#R@14:30 Bz (RAERSE)
15:15 273 150. 0 2.583 [/\A| FhHF@15:15 HEh (KRAEESE)
16:10 273 150.0 2.583 |/i| FhHA@16:10 Bzl (REERSE)
24t 3276.0 (12)%) 1800. 0 ZHIKEC: 2200, PH: 5.5

E&PH (7.5) w5

RBIE S R FEKPH 5. 5249999999999995, HFHEARHL A B FhiEISPH, 1EF i
HEEKECE (1760.0 vs 5103.0) 5

HRENE Y S K IKEC 2200. 0



ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=76.0 (2025-06-13)
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P3-1

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

06:30 283 150. 0 2.583 FA| 1B2i%@06:30 B3h (kA{EREEE)
07:30 283 150.0 2.583 FA| 1Bzi%@07:30 B3h (KBRS
13:00 283 150.0 2.583 FA| 1BRi%@13:00 B3h (RAERSE)
14:00 283 150.0 2.583 FA| {Ri%@14:00 Bz (GRAERE)
14:35 283 150. 0 2.583 FA| 1BRi%@14:35 Bzh (RAERSE)
15:15 283 150.0 2.583 | =| 1Rige15:15 Bz (GRAFEHE)
16:15 283 150.0 2.583 |Z=| {Ri&e16:15 Bz (REEZHE)
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P3-1_0, Day=75 (2025-06-12)
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P3-1

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

07:25 283 150. 0 2.583 E BRi&e07:25 Bzl (GRAERSE)
07:55 283 150.0 2.583 E|  {Ri&e07:55 B3h (RFE{EREE)
08:35 283 150.0 2.583 | 1Rie08:35 B (KREAERE)
09:15 283 150. 0 2.583 E BRi&e09:15 Bzl (RAERE)
09:50 283 150.0 2.583 =l {Ri%@09:50 B (RAERSE)
10:25 283 150.0 2.583 = RRiB010:25 B (REAEESE)
11:05 283 150.0 2.583 =l RiBe11:05 Bah (REAKEE)
11:40 283 150. 0 2.583 =l RiB011:40 Bz (GRAEEE)
12:10 283 150.0 2.583 =l {Rige12:10 B3 (RAERSE)
12:40 283 150.0 2. 583 S {Rige12:40 B3 (RAERSE)
13:10 283 150. 0 2.583 E| {Rig@13:10 Bzh (GRE{ERSE)
13:40 283 150.0 2.583 F BRige13:40 Bz CGRAERE)
14:10 283 150.0 2.583 S| {Rige14:10 B3 (RAERSE)
14:40 283 150. 0 2.583 E BRige14:40 Bz CGRAERESE)
15:10 283 150.0 2.583 5| 1RiRe15:10 B35 (REAEES)
15:40 283 150.0 2.583 S {Rig015:40 B3 (RAERSE)
16:15 283 150. 0 2.583 E BRige16:15 Bz (GRAERESE)
16:55 283 150.0 2.583 5| {Ri%e16:55 B3 (RAERSE)
24t]5094.0 (18X%) 2700. 0 ZHKEC: 2200, PH: 5.5

HERNERE STRERST (182.0 :
2RI\ EPRERE150.0 ml.

150.0), FAIEEHT—@E XAH5

large discrepency for begining water status (232:54.0), set to 232 ml
E;&PH (7.42) RS

B S RFERPH 5. 5249999999999995, T HEARH A FE 51EIEPH, EF shiA%

[E{&REC 6607.0 K5, ZEiNF{KECAE&HRER
HEEIRECE (1847.0 vs 6607.0) 03
REE NS KFIKEC 2200. 0




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

"MW ]

[ME,

P3-1_0, Day=74 (2025-06-11)
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0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-1

BfiE) | GEBATK (RY) | EHRE (EH/K) | ERERE (B/R) | XS ERE

07:15 283 150. 0 2.583 = {RRiB007:15 Bzh (RAKEE)
07:45 283 150. 0 2.583 El 1BRi&e07:45 Bz (GRFAEREEE
08:15 283 150.0 2.583 5| {Ri%e08:15 Bz (FAERSE)
08:45 283 150.0 2.583 S| {Ri%e08:45 B (KRAERSE)
09:20 283 150. 0 2.583 E BRi%e09:20 BE1 (RAERSE)
10:00 283 150.0 2.583 F[ BRi%e10:00 Bz (GRAERESE)
10:40 283 150.0 2.583 = {Ri%010:40 B3 (RAERSE)
11:20 283 150. 0 2.583 E BRige11:20 Bz (GRAERESE)
11:55 283 150.0 2.583 S {Ri%e11:55 Bz (GRAERSE)
12:25 283 150.0 2.583 =l {Rige12:25 B3 (REAERSE)
12:55 283 150. 0 2.583 E BRige12:55 Bz (GRAERESE)
13:25 283 150.0 2.583 5| {Ri%e13:25 B3 (RAERSE)
13:55 283 150.0 2.583 = {RRiB@13:55 B (RFAKESE)
14:25 283 150. 0 2.583 E BRige14:25 Bz (GRAEREE)
14:55 283 150.0 2.583 5| {Ri%e14:55 B3 (RAERSE)
15:25 283 150.0 2. 583 =l RRiB@15:25 B (REAEESE)
15:55 283 150. 0 2.583 = {RRiBe15:55 Bz (REAKEE)
16:30 283 150. 0 2.583 El BRi&e16:30 Bz CGRAEREE)
17:10 283 150.0 2.583 F[ BRige17:10 Bz CGRAERESE)
2it]5377.0 (190%) 2850.0 FHIKEC: 2200, PH: 5.5

HERNERE STRERST (182.0 :
BRI\ EPRERE147.0 ml.

147.0), AIEERT—@E XAH5

large discrepency for begining water status (368:66.0), set to 368 ml
E&PH (7.25) R
TR S RFERPH 5. 5249999999999995, HFHEABHAiE B EhiHIEPH, EF A%
[Bl/REC 6940.0 K&, ZiNFAIRECAE R IMIEER
HE[ERECE (1887.0 vs 6940.0) i35
HRENE Y S K IREC 2200. 0




P3-1_0, Day=73 (2025-06-10)

[ S i T e ey
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2912 | 3000

100 -
1700 R - 2000 °

496

90 1 L 1000
80

20 Warning: [col ['FVI',  "FVO'] missing

FRV (ml plant-1)

Warning: [col ['WC1’, "WC2'] missing

optEC0=3000. 0, setECB=2200

Warning: |col ['ECB’, "ECC’'] missing

optPHO0=6. 5, setPHB=5.5

Warning: [col ['PHB', 'PHC'] missing

1

Bylnit @D76 11:39: ET=2929 Fg=3150.0 Ro=291.0 : [ 1000
400 I
1

200 - - 2000

ET (ml/hr/plant)

p © >4 © —

— < —
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 | 21 22 23
% | # | | % | W | m | ® | % | m | m [ m % | % % [ m [ 6 [ 6 [ B | | | B ® @

]
ByEt @D73 19:07: ET=3020 Fg=2352. 0 Ro=nan :
|

4000

400 -

200 - - 2000

ET (ml/hr/plant)

p © @ 4 @ ©
s ya — —a =
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1 16 17 18 19 20 21 22 23

5
e [ B | A5 | FF | W5 | B5 | s [ A [R5 [ A5 | RF | °G | M5 | F5 | A [ A5 [ A5 [ AE | MG | MG | S | M [ RS [ S | 0

4001 ByWoFv @D76 11:39: ET=2149 Fg=2850.0 Ro=568.0

1

1

1

1

1
200 - + - 2000
1

ET (ml/hr/plant)

1.0

0.8 -

0.6 -

0.4 A

0.2 A

0.0
1500 -

—_— 4
o | _obs

—@— PPFD obs
1000 -

500 -

38

30 -
25 A

20 -

15 1

100

80 -

60 -

40 4

20 ~

ﬂ e v f

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



30.

29.

29.

28.

28.

31.

30.

30.

29.

29.

28.

28.

31

-@— ME
400 660 860 1600
m=570,n FV0=0
—&— ME
30 A
29
28
27
5%0 5%5 5é0
m=730,n FV0=0

—o— M_E

i
i

730 7é5 7&0
m=875,n FV0=0

-o— M_E

7
i

875 880 885

30.

29.

29.

28.

28.

31.

31.

30.

30.

29.

29.

28.

m=445, FV0=0

—— we ¢ ._.\"“'*o—o\.

=N
g
($,]

T T
450 455

m=610,n FV0=0
—&— M_E
o
6i0 6%5 GéO
m=765,n FV0=0

—o— ME

767.5 770.0 772.5 775.0 777.5
m=915,m FV0=0

-o— ME

915 920 925

m=495, FV0=0

31.0 -

30. 5 -

30. 0 -

29.5 -

29.0 -

28.5 -

m=655,m FV0=0

30 A

29 -

28 A

27 A

26 -

m=800,m FV0=0

30. 0

29.5

29.0 -

28.5 -

28.0 -

27.5 -

T

Al

m=969,m FV0=0

31.5 4

31.0 -

30. 5

30. 0 -

29.5 -

29.0

28.5 -

31.5 4

31.0 -

30. 5 A

30.0 A

30. 5 A

30.

29.

29.

28.

28.

27.

32.

31.

31.

30.

30.

29.

m=520, FV0=0

—o— M_E

T T
520 525 530

m=690,m FV0=0

—o— M_E

B

T T
690 695 700

m=839,m FV0=0

—o— M_E

i

835 840 845

m=1010m FVO=0

—o— M_E

1010 1015 1020




m=1040, FV0=0 m=445, FV0=0 m=495, FV0=0

—o— ME ¢ —— MW 33 —— MW
32.0 30 -
32
29 -
31.5 1 31 1
28 -
30
27 -
31.0 1 29 A
26 -
28 -
30.5 —— MW ]
T T T T T T _ 25 T T T 27 ] T T T
1040 1045 1050 400 600 800 1000 445 450 455 495 500 505
m=520,m FV0=0 m=570,m FV0=0 m=610,m FV0=0 m=655,m FV0=0
35 - 34 1 i
—— MW —— MW 34 —— MW 33 —— MW
33 1
34 A 33 32
32
33 32 - 31 4
31
32 7 31 - ® 30 4
30
31 -
30 - ]
99 29
301 29 - 28 A
T T T T T T T T T T T T
520 525 530 570 575 580 610 615 620 655 660 665
m=690,m FV0=0 m=730,m FV0=0 m=765,m FV0=0 m=800,m FV0=0
341 —o— MW —o— MW —— MW 33 1 —o— MW
33 - 33
33 32
39 32 32 -
31 4
31 31 1 31 -
30 1
30 4 30 30 4
29
29 - 29 1 29
690 695 700 730 735 740 767.5 770.0 772.5 775.0 771.5 800 805 810
m=835,m FV0=0 m=875,m FV0=0 m=915,m FV0=0 m=965,m FV0=0
33 —o— MW 33 - —— MW —— MW —o— MW
33
33 -
32 32 4
39 32 1
31 31 A
31 4 31
30 - 30 4
30 30
29 - 29 -
99 | 29 -
28 - T T T 28 1 T T T T T T T T T
835 840 845 875 880 885 915 920 925 965 970 975



m=1010, FVO=0
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P3-1

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

08:20 278 150.0 2.583 (Z=| {Ri%@08:20 Bz (FRAERHSE)
09:30 278 150.0 2.583 |Z=| 1BRi&e09:30 Bz (RAERE)
10:10 278 150.0 2.583 (£=| {Ri%@10:10 B3 (RAERSE)
10:45 278 150.0 2.583 (Z=| {Ri%@10:45 Bz (REAERSE)
11:20 278 150. 0 2.583 |Z=| Bi&e11:20 B (REEZERE)
12:05 278 150.0 2.583 (£=| {Rige12:05 B3 (RAEDSE)
12:55 278 150.0 2.583 (Z=| {Rige12:55 Bz (REAEHSE)
13:35 278 150.0 2.583 |/hiu| {Ri&e13:35 Bz (REERE)
14:10 278 150.0 2.583 FA| 1BRi%@14:10 B3h (RAHERSE)
14:40 278 150.0 2.583 FA| 1BRi%@14:40 B3h (kAEREE)
15:15 278 150. 0 2.583 |Z=| BRige15:15 Bz (GRAERESE)
16:15 278 150.0 2.583 (Z=| {Ri%e16:15 Bz (FRAEHSE)
24t 3336.0 (12)%) 1800. 0 ZHIKEC: 2200, PH: 5.5

FEREHEM S STHAERST (179.0 : 145.0), AIBERT—@E XFHE
FRINSEPRIEBRE145.0 ml.

large discrepency for begining water status (280:117.0), set to 280 ml.
HERIE Y S KFHRPH 5. 5249999999999995, HFHEARH AL B shiliEPH, EF AR
[E;&EC 6967.0 K5, EiF{RECAERMItER

PE[EIRECE (1897.0 vs 6967.0) 535

REE NS KFIKEC 2200. 0



ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=72 (2025-06-09)
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